
ADULT ASSEMBLY REQUIRED
Read all instructions before assembly and use.
Due to the presence of small parts during assembly, keep
out of reach of children untill assembly is complete.

ASSEMBLY INSTRUCTION
Adirondack Chair

!



2pcs

-2-

1pc

53pcs

C1
C2
C3
C4 C5

C6 C7

3

6pcs 1

2pcs

1pc

5pcs

2pcs

1pc

3.5*40
a

b

C

1pc

1pc

A1LA1R

B1R

B1L

B4

B5

B2

B3

C8

C9

C10

F1R
F1L

F2

D 2pcs

2pcsE

4pcs 1

M

M

8*55

8*55

1pc

1pc

1pc

PARTS LIST 

Please read the instruction manual carefully before using it.
Please assemble strictly in accordance with the instruction.
Please double check to the ensure that all parts of the package contents intact.

WARNING



M8*55

C8

C10

C9

C4 C1

C7

C2
C3

C5 C6

F1R F1L

B3

B2B1R

B1L

F2

D
D

-3-

a

a

a

a

a

a

a

a
a

a
a

a

a

a

a

a

a

a

a

a

1

2 3

4

5 6

Bevel
 UP

B4

B5

a

3.5*40

25pcs

a

3.5*40

8pcs

a 3.5*40

12pcs

a

3.5*40

4pcs

a

2pcs

c 3.5*40

4pcs

a



c

b

7 8

9 10

-4-

c

b

b
E

b
A1R

A1L

c
E

M8*55

2pcs

c

1pc

b

M8*55

2pcs

c

M8*55

1pc

b M8*55

2pcs

b M8*55


